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• х2 – 3х + 2 = 0        х1 = 1     Х2 = 2
• х2 – 4х + 3 = 0        х1 = 1     Х2 = 3
• х2 – 5х + 4 = 0        х1 = 1     Х2 = 4
• х2 – 6х + 5 = 0        х1 = 1     Х2 = 5
• х2 – 7х + 6 = 0        х1 = 1     Х2 = 6
• х2 – 5х + 6 = 0        х1 = 3     Х2 = 2
• х2 – 8х + 7 = 0        х1 = 1     Х2 = 7
• х2 – 9х + 8 = 0        х1 = 1     Х2 = 8
• х2 – 6х + 8 = 0        х1 = 4     Х2 = 2
• х2 – 11х + 10 = 0    х1 = 1    Х2 = 10



• х2 – 7х + 10 =0         х1 = 5    Х2 = 2
• х2 – 13х + 12 = 0      х1 = 1    Х2 = 12
• х2 – 8х + 12 = 0        х1 = 6    Х2 = 2
• х2 – 7х + 12 = 0        х1 = 3    Х2 = 4
• х2 – 25х + 24 = 0      х1 = 1    Х2 = 24
• х2 – 14х + 24 = 0      х1 = 12   Х2 = 2
• х2 – 11х + 24 = 0      х1 = 3    Х2 = 8
• х2 – 10х + 24 = 0      х1 = 4    Х2 = 6
• х2 – 13х + 36 = 0       х1 = 4    Х2 = 9
• х2 – 16х + 48 = 0       х1 = 4    Х2 = 12
• Text



• х2 – 17х + 52 = 0       х1 = 13    Х2 = 4
• х2 – 27х + 72 = 0       х1 = 3    Х2 = 24
• х2 – 17х + 60 = 0       х1 = 5    Х2 = 12
• х2 – 13х + 42 = 0       х1 = 6    Х2 = 7
• х2 – 11х + 28 = 0       х1 = 4    Х2 = 7
• х2 + 3х + 2 = 0       х1 = -1    Х2 = - 2
• х2 + 4х + 3 = 0       х1 = - 1    Х2 = - 3
• х2 + 5х + 4 = 0       х1 = - 1    Х2 = - 4
• х2 + 6х + 5 = 0       х1 = -1    Х2 =  - 5
• х2 + 10х + 9 = 0       х1 = - 1    Х2 = -9



• х2 + 16х + 15 = 0     х1 = - 1    Х2 = -15
• х2 + 8х + 15 = 0       х1 = - 3    Х2 = - 5
• х2 + 17х + 16 = 0     х1 = - 1    Х2 = - 16
• х2 + 10х + 16 = 0     х1 = - 2    Х2 = - 8
• х2 + 19х + 18 = 0     х1 = - 1    Х2 = - 18
• х2 + 11х + 18 = 0     х1 = - 2    Х2 = - 9
• х2 + 9х + 18 = 0       х1 = - 3    Х2 = - 6
• х2 + 21х + 20 = 0     х1 = - 1    Х2 = - 20
• х2 + 12х + 20 = 0     х1 = - 2    Х2 = - 10
• х2 + 9х + 20 = 0       х1 = - 4    Х2 = - 5



• х2 + 31х + 30 = 0     х1 = - 1    Х2 = -30
• х2 + 17х + 30 = 0     х1 = - 15  Х2 = - 2
• х2 + 13х + 30 = 0     х1 = - 10   Х2 = - 3
• х2 + 11х + 30 = 0     х1 = - 5    Х2 = - 6
• х2 + 16х + 28 = 0     х1 = - 2    Х2 = - 14
• х2 + 17х + 42 = 0     х1 = - 3    Х2 = - 14
• х2 + 28х + 52 = 0     х1 = - 2    Х2 = - 26
• х2 + 18х + 72 = 0     х1 = - 12   Х2 = - 6
• х2 + 19х + 60 = 0     х1 = - 4  Х2 = - 15
• х2 + 14х + 45 = 0      х1 = - 5    Х2 = -9



• х2 - х - 2 = 0          х1 = - 1    Х2 = 2
• х2 - 2х - 3 = 0        х1 = - 1    Х2 = 3
• х2 - 3х - 4 = 0        х1 = - 1    Х2 = 4
• х2 - 4х - 5 = 0        х1 = - 1    Х2 = 5
• х2 - 5х - 6 = 0        х1 = - 1    Х2 = 6
• х2 - х - 6 = 0          х1 = - 2    Х2 = 3
• х2 - 7х - 8 = 0        х1 = - 1    Х2 = 8
• х2 - 2х - 8 = 0        х1 = - 2    Х2 = 4
• х2 - 9х - 10 = 0      х1 = - 1    Х2 = 10
• х2 - 3х - 10 = 0      х1 = - 2    Х2 = 5



• х2 - х - 30 = 0           х1 = - 5    Х2 = 6
• х2 - 26х - 27 = 0       х1 = - 1    Х2 = 27
• х2 - 6х - 27 = 0         х1 = - 3    Х2 = 9
• х2 - 35х - 36 = 0       х1 = - 1    Х2 = 36
• х2 - 16х - 36 = 0       х1 = - 2    Х2 = 18
• х2 - 9х - 36 = 0         х1 = - 3    Х2 = 12
• х2 - 5х - 36 = 0         х1 = - 4    Х2 = 9
• х2 - 39х - 40 = 0       х1 = - 1    Х2 = 40
• х2 - 18х - 40 = 0       х1 = - 2    Х2 = 20
• х2 - 6х - 40 = 0        х1 = - 4    Х2 = 10



• х2 - 3х - 40 = 0         х1 = - 5    Х2 = 8
• х2 - 11х – 26 = 0      х1 = - 2    Х2 = 13
• х2 - 3х - 54 = 0         х1 = - 6    Х2 = 9
• х2 - 12х - 64 = 0       х1 = - 4    Х2 = 16
• х2 - 2х - 80 = 0         х1 = - 8    Х2 = 10
• х2 + х - 2 = 0            х1 =  1    Х2 = - 2
• х2 + 2х - 3 = 0          х1 =  1    Х2 = - 3
• х2 + 3х - 4 = 0          х1 =  1    Х2 = - 4
• х2 + 4х - 5 = 0          х1 =  1    Х2 = - 5
• х2 + 8х - 9 = 0          х1 =  1    Х2 = - 9



• х2 + 14х - 15 = 0      х1 =  1    Х2 = - 15
• х2 + 2х - 15 = 0        х1 = - 5    Х2 = 3
• х2 + 47х - 48 = 0      х1 = - 48    Х2 = 1
• х2 + 22х - 48 = 0      х1 = - 24    Х2 = 2
• х2 + 13х - 48 = 0      х1 = - 16    Х2 = 3
• х2 + 8х - 48 = 0        х1 = - 12    Х2 = 4
• х2 + 2х - 48 = 0        х1 = - 8    Х2 = 6
• х2 + 49х - 50 = 0      х1 =  1    Х2 = - 50
• х2 + 23х - 50 = 0      х1 = - 25   Х2 = 2
• х2 + 5х - 50 = 0        х1 = - 10    Х2 = 5



• х2 + 12х - 45 = 0      х1 = - 15    Х2 = 3
• х2 + 4х - 45 = 0        х1 = 5    Х2 = -9
• х2 + 5х - 14 = 0        х1 = - 7    Х2 = 2
• х2 + 13х - 14 = 0      х1 = - 14    Х2 = 1
• х2 + 2х - 35 = 0        х1 = - 7    Х2 = 5
• х2 + 7х - 44 = 0        х1 = - 11    Х2 = 4
• х2 + 14х - 32 = 0      х1 = - 16   Х2 = 2
• х2 + 7х - 30 = 0        х1 = - 10    Х2 = 3
• х2 + 5х - 24 = 0        х1 = 3    Х2 = - 8
• х2 + 19х - 66 = 0      х1 = - 22   Х2 = 3



• х2 - 12х + 11 = 0      Х1 = 1    Х2 = 11
• х2 + 14х + 13 = 0     Х1 = - 1   Х2 =  -13
• х2 - 5х - 14 = 0         Х1 = 7     Х2 = - 2
• х2 + 9х - 22 = 0        Х1 = 2     Х2 = -11
• х2 - 14х + 33 = 0      Х1 = 3     Х2 = 11
• х2 - 3х - 70 = 0         Х1 = - 7   Х2 = 10
• х2 + 22х + 40 = 0     Х1 = - 2   Х2 = -20
• х2 - 20х + 51 = 0      Х1 = 3     Х2 = 17
• х2 + 27х + 50 = 0     Х1 = -2    Х2 = - 25
• х2 - х - 72 = 0           Х1 = - 8   Х2 = 9



• х2 + х - 12 = 0          Х1 = - 4    Х2 = 3
• х2 - 12х + 27 = 0      Х1 = 9      Х2 = 3
• х2 + 15х + 44 = 0     Х1 = - 4    Х2 = -11
• х2 - 6х - 72 = 0         Х1 = - 6   Х2 = 12
• х2 + 11х - 80 = 0      Х1 = 5     Х2 = -16
• х2 - 12х + 20 = 0      Х1 = 2     Х2 = 10
• х2 + 20х + 19 = 0     Х1 = -1    Х2 = -19
• х2 - 9х - 70 = 0         Х1 = - 5   Х2 = 14
• х2 + 21х - 46 = 0      Х1 = 2     Х2 = - 23
• х2 - 46х + 88 = 0      Х1 = 2     Х2 = 44



• х2 + 21х + 68 = 0     Х1 = - 4    Х2 = -17
• х2 - 4х - 21 = 0         Х1 = - 3    Х2 = 7
• х2 + 15х - 54 = 0      Х1 = 3      Х2 = -18
• х2 - 22х + 96 = 0      Х1 = 6      Х2 = 16
• х2 + 12х + 32 = 0     Х1 = - 8    Х2 = - 4
• х2 + 10х - 39 = 0      Х1 = 3      Х2 = -13
• х2 - 2х - 48 = 0         Х1 = - 6    Х2 = 8
• х2 + 18х + 77 = 0     Х1 = - 7    Х2 = -11
• х2 - 14х + 40 = 0      Х1 = 10    Х2 = 4
• х2 +3х - 28 = 0         Х1 = -7     Х2 = 4



• х2 - 12х - 45 = 0        Х1 = - 3   Х2 = 15
• х2 + 13х + 36 = 0      Х1 = - 9   Х2 = - 4
• х2 - 24х + 23 = 0       Х1 = 1     Х2 = 23
• х2 + 9х - 90 = 0         Х1 = 6     Х2 = -15
• х2 - 10х - 24 = 0        Х1 = - 2   Х2 = 12
• х2 + 11х + 28 = 0      Х1 = - 7   Х2 = - 4
• х2 - 10х + 16 = 0       Х1 = 8     Х2 = 2
• х2 + 2х - 80 = 0         Х1 = -10  Х2 = 8
• х2 - 9х - 22 = 0          Х1 = - 2   Х2 = 11
• х2 + 11х + 24 = 0      Х1 = - 8   Х2 = - 3



• х2 - 8х + 15 = 0        Х1 = 5     Х2 =  3
• х2 + 5х - 36 = 0        Х1 = - 9   Х2 = 4
• х2 - 10х - 75 = 0       Х1 = - 5   Х2 = 15
• х2 + 13х + 42 = 0     Х1 = - 6   Х2 = - 7
• х2 - 35х + 66 = 0      Х1 = 2     Х2 = 33
• х2 + 8х - 33 = 0        Х1 =  3    Х2 = -11
• х2 - х - 12 = 0           Х1 = 4     Х2 = - 3
• х2 + 12х - 64 = 0      Х1 = 4     Х2 = -16
• х2 - 33х + 32 = 0      Х1 = 1     Х2 = 32
• х2 + 3х - 10 = 0        Х1 = - 5   Х2 = 2



       Спасибо за работу.
      До новых встреч .



      РАБОТУ ВЫПОЛНИЛА
       Широкая Ольга Валерьевна

          учитель  математики 
         МБОУ «СОШ п. Красное», 

    Ненецкого автономного округа
        Архангельской области 


